
Recap quiz (paraphrased defus/theorems)

Consider on LP in standard equation form

maximize

subject to A2 = 1
,
270.

A basic feasible solution is a solution

in which the entries of 22

correspond to columns of A
.

Last time we proved two results
① Every LP (in standard equation form)

has an solution that is as

solution (provided it has
at least are Solution)

.

② Given on LP in Standard equation form

every Solution is an

solution and vice versa .

(proot not completed)

①+ imply
Carollary If an LP has an optimal solution,
then it also has an optimal solution that
is also a basic feasible solution

.















Summary
- Start with a BFS

- At each step find a BFS with larger
objective value by increasing one variable from O
and decreasing one variable to 0.
- Rewrite LP so it becomes obvious which
variable to increase in the next step

-

stop when we see that we cannot
increase the objective function my move.





















Example

maximize IT4
- x2 + 806,

subject to 223E/
2x - 4x2 +60 4
-

x # 37 + 43 2

Da ,
PatO

Standard equation form

maximize 2x ,
- x + 80

subject to 2x + S ,
= I

22 - 4x + 6xy +5 = 3

-x + 332 + 42y + Sp = 2

e , 22 , 04 ? G .

Initial tableau

x
/
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